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	2017/6/6 New Updated Cisco 400-101 Exam Dumps with PDF and VCE Free Version from: www.Braindump2go.com 100% Real

Exam Questions! 100% Exam Pass Guaranteed! 1.|2017 Version New 400-101 PDF and 400-101 VCE 352Q&As Instant Download:

http://www.braindump2go.com/400-101.html 2.|2017 Version New 400-101 Exam Questions and Answers Download:

https://drive.google.com/drive/folders/0B75b5xYLjSSNZWpRdXBrR0RYaTQ?usp=sharing QUESTION 329Two routers are

connected on a PPP link using CHAP authentication by default which value will the routers use as their identification on the link? A.

   Their hostnamesB.    Their IP address on the connected linkC.    Their interface numbersD.    Their serial numbers Answer: A

QUESTION 330Which component of a GETVPN deployment is responsible for obtaining an IPsec SA to encrypt data within a

group? A.    Group memberB.    Key ServerC.    GDOID.    GRE Answer: C QUESTION 331Which PIM multicast type is designed

to be used for many-to-many applications within individual PIM domains? A.    PIM-DMB.    Bidir-PIMC.    PIM-SMD.    SSM

Answer: B QUESTION 334Which tunneling method can transmit IPv6 traffic over an MPLS infrastructure? A.    6PEB.    6to4C.   

ISATAPD.    6RD Answer: A QUESTION 335Which IPv6 solution provides network information to clients without providing an

IPv6 host address? A.    autoconfigurationB.    stateless DHCPv6C.    stateful DHCPv6D.    prefix delegation Answer: A

QUESTION 336Which two statements about PPP CHAP authentication are true? (Choose two) A.    It is a one-way authentication

methodB.    It uses a secret password, which is sent across the link for authenticationC.    It supports clear-text passwordsD.    It is

configurable only on PPP callout linksE.    It uses a configured username and password to authenticate a host Answer: AE

QUESTION 339After you configure split horizon on an EIGRP hub-and-spoke network. You notice that some routes are missing on

the spoke routers. Which two actions can you take to correct the problem? (Choose two) A.    Increase the Hello and Hold timers on

the connections between the routersB.    Configure unicast neighbor statements on both the hub and the spokesC.    Disable split

horizon on the spoke router interfaces onlyD.    Disable split horizon on the hub router interface onlyE.    Configure the summary

address command on the hub routerF.    Define a separate subinterface on the hub router for each spoke Answer: DF QUESTION

340Which technology must be enabled on an interface before L2TPv3 can operate correctly? A.    OSPFB.    MPLSC.    CEFD.   

STP Answer: C   !!!RECOMMEND!!!   1.|2017 Version New 400-101 PDF and 400-101 VCE 352Q&As Instant Download:

http://www.braindump2go.com/400-101.html 2.|2017 Version New 400-101 Study Guide Video: YouTube Video: 

YouTube.com/watch?v=YCrzHv4ntuo
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